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WS — Justifications for Geometric Proof

1. Given:AM = WU
Conclusion: AM = WU
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2. Given: E is the midpoint of BD
Conclusion: BE = ED

Why: U(’f r-l M t(!QM\\-L

3. Given: A bisects CT
Conclusion: CA = AT

why:_ Del. of Brsecd

4. Given: CO = 0L
Conclusion: CO = OL

Why: ‘Df’(, o-(- =

5. Given: 2DAY and Y AK are a linear
pair
Conclusion: £DAY and 2YAK are
supplementary

Why:_Lineaf _Paif Pﬂ?hﬂ[u#‘(’

6. Given: £TOM is the supplement of
¢SUE

Conclusion: m2TOM + m«SUE = 180

Why: Df"( ";:( E:t;!%)u{.?i‘f'::.ﬂ‘. -\c\r\f]
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Given: A and B lie in Plane JOG
Conclusion: A and B are collinear

why: Twme Yot Pshblefe
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Given: Ais in the interior of ZGLD
Conclusion:
msLGLA + msALD = ms4GLD

Why: A“gu A(!G’ll"‘nﬂf’\ ":-5::‘.4'1)10»‘(

Given: 21 is the complement to £3
Conclusion: mz1 + ms3 =90

Why: I)rﬂ O‘[ i oM g (2 ;;u;;m'.-'m/

Given: £HAM is vertical to £EAT
Conclusion: ZHAM = £EAT

Why: V@Af(.ﬁli L “Thm

Given: R N
Conclusion: U is the midpoint of RN

Why: D(( v f_?-.'{ it "'{ f?m'( |'i'
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Given: »

Conclusion: 28 and 29 are vertical
angles

why: Defwifon of Ueheal 2%

Given: meNAT + msWED = 90
Conclusion: ZNAT and £ZWED are
complementary

Why: Deff of Cbs"l‘«l?((’i“aﬂ{au/

Given: FA = RM
Conclusion: FA = RM

Why: Deﬁ 0‘r =
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Given: MA =TH
Conclusion: MA =TH

Why: Dg( O'F =

Given: m£AFD + m4BAT = 180
Conclusion: ZAFD, 2BAT are
supplementary

Why: -De(l o g So pp(ﬂ Wﬂ-".r. e
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Given: R&O

Conclusion: ZFRO = 20RG

why: Del. of bisect

Given: m4£2 = mzs6
Conclusion: 22 = 246

Why: [E(( 0‘(’ {X




